Chemistry 112 : Chemistry 112

S ( . _ﬁ Chapter 5 Quiz Chapter 5 Quiz

Name: h U - M Date: -

(:4 14. How many unpaired electrons are in a sulfur atom (atomic pumber 16)? E f\j gg'z 5 P i
¢

Part A - Multiple Choice [16 pts] a 0 C? z
Identify the choice that best completes the siciement or answers the question. 3

& 1. in Bohr's model of the atom, where are the electrons and protons located? A 15. Stable electron configurations are likely to contain '} 2_ 1__
} The clectrens move around the protons, which are at the center of the atom. e filled energy sublevels -
The electrons and protons move throughout the atom. fewer electrons than nastable configurations
¢. The elecirens occupy fixed positions aroend the protons, which are at the center of the : c. vofilied s orbitals
atom. d. electrons with & clockwise spin
d. The giectrons and protons are located throughout the atown, but they are not free to move.
. Q 16. thh electron configuration of the 47 energy sublcvel 1s the most stable?
Q,L 2. The principal quanium number fndicates what property of an electron? a. 41 S.
a. position energy level b. 4f @ 4j
b. speed 4. electron cloud shape
& 3. an; many energy sublevels are in the second principal energy level? ’ Part C - Short Answer
c.
2 5 & 'E) 4 4 1.Give the electron configuration for each of the following atoms: - [4 pts]

Beryllivm: i 51 2—-5 ?
4. What is the maximum rumber of f orbitals in amy smgle energy level In an atom?

; ; 7 Chigrine: 2—5 2.3 7?"35 \‘SD ¢
5. :th},tisﬂxemaximum number of electrons ilnhefoulr;hpri.ncipalmcrg;ievel?d £ Selenium: is 2.§ Zpégg %_)L 4523519? )
vt @32 ZJE; o 14 — Z.S Zz)é 3 31} Ys'3J° ‘S“:?‘J Pmﬁw

6. When an electron moves from a lower to a higher energy leveL the electron .
2. always doubles its cnergy
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b, absarbs a continuously variable amount of energy 2. State the energy level and the number of valenge electrons for each of the following: {4 pst
absorbs a quantum of energy L -
moves closer 1o the nuclevs Bromine: Lf‘ 7 &
é 7. The letier "p" in the symbol 4p3 indicates the . . i -
spin of an clectron ¢. principle energy level ) Stronium: b 2 e
orbital shape d. speed of an slectran ' e -
C ' teat - e
8. If the spin of one electron in an orbital is clockwise, what is the spin of the other electron in that orbital? ]
a. zere counterclockwisa R 3 < lf & -
b. clockwise . both clockwise and counterclockwise . Silicon:

c

. What types of atomic orbitals are in the thiré priggipal energy level?
a. & and p only @ 5, p. and of only
b. panédonly s, podandf 3. Write the abbreviated slectron oonﬁgaranon for each of the following elements: I3 pts]
D Lkr] d®5p*
10. What is the next atomic orbital in the series Ls, 25, 2p, 35, 3p? Tén: i -:)S
a 24 c 3
. G 45734
e 4 Titanivm; j 5
11. What is the number of alectrons in the owtermost,energy level of an oxygen atom? E __]
a 2 @ ] Tellerum: K‘i b 5 Lfa
b. 4 8
D 12. What is the electron configuraiion of potassium"
2 15827 2p" 35 3p st 15725%35° 3 “3g"
LTS anme3523p3 } 152" Zp 3s 3p 45!
& 13. if three electrons are available to fill three empty 2p atomic orbitals, how will the electrons be distributed in
the three orbitals?
b one electron m each orbital
5. two clecirons in one orbital, one in another, none in the third ’I "l :l
¢. three in one orbital, none in the other two .

d. Three electzons cannot fill three empty 2p atomic orbitals.



Chemistry 112

Chapter 5 Quiz
4. Fill in the Aafban diagram for the element nuntber 43: [2pts]
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Part D - Essay
1.Describe the different principles that govern the building of an electron configuration. 13 pest

_MMJM% First
Pauii = Je” ptr orbilel , opposik Spins

Hnd — ¢- drdir orbitzfs in Sineic hie,
dobbis ug i ey hawe

2. Tungsten has an wiexpected electron configuration. Write both the expected and actual electron configurations
of tungsten and explain why this happens. [5 pts]
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